SW1/ADM ,(f' )
4/15-!5' ‘ >!' >
Q
3 T _
Schritt 1 7 | )
Schritt2 ~ N Schritt A\ Schritt 3
Artikel | Gewinde| Klemmbereich | SWI|SW2| L H D | Durchgangs- Anzugsdreh- Kategorie der
(mm) max. bohrung rmmenMNm) Schlagein-
G (ror) | (mm) | () | (mm) | (mm) (mm) AD wirking
2 < Hutmutter | Stutzen
R60080512I/MI2x15] 30 65 14 114 160 [240[120] 120402 50 30 2
R60480512]M12x1,5] 30 65 14 114 1120 [240 [ 120] 12(0+02) 50 30 2
R60080516] MT6x1,5] 4,0 80 17 [ 18 | 70 [255[160] 16(0/+02) 65 40 2
R60480516] M16x1,5] 4,0 80 17 118 [120 [255[160] 16(0/+02) 65 40 2
R60084516|M16x1,5] 50 100 | 20 [ 20 [ 70 [305[ 160 T6(0A02) 80 40 2
R60484516| MT6x1,5] 50 100 | 20 [ 20 [120 305 [ 160[ 16(0A02) 80 40 2
R60080520] M20x1,5] 60 120 [ 22122180 [280[200] 20(0/+02) 80 55 2
R60480520] M20x1,5] 60 120 [ 221 22 [120(280]1200] 20(0/+02) 80 55 2
R60080522] M20x1,5] 100 140 | 24124 180 [300][200] 20(0/+02) 110 60 2
Sohitt | Vontageschitt R60480522l M20xT,5] 100 140 | 24 1 24 1720 [300[200] 20(0+02) 11,0 60 2
: - - g R60080526] M25x1,5] 130 180 | 30 [ 30 | 80 [350[250] 25(0/+02) 170 60 4
D e e e o R60480526 M2Bx15] 130 | 180 | 30 | 30 120 [350 [ 250] 250702 | 170 50 4
von Kabelverschraubungen geschult ist.) Egggggggg %g}g }gg %28 28 38 195% %8 %8 g% 58;18% %gg 28 jr
1 e am R600B0BAT[VAOKT5] 220 | 320 | 50 | 50 |90 |45 [400] 40(0A02) | 410|120 2
—— . . . R60480541] MAOXT5] 220 320 | 50 | 50 [150 545 1400[ 40(0H+02) 410 120 4
2 |G o ey TobaIR o A
erfulit. Als Ricntwert giit aer inaer Tabelle genannte . RST Rabe-System  Technik und Vertriebs-GmbH Unless otherwi ified on the drawing: i i i i
2 estos rehenlomn 21 g g Uven e g ieios [ e poi i
3 Kabel durch die Kabelverschraubungen fiihren. & +49 5407 8766:0 EISTT?Lerich o IA'\l‘\é{Ijé?QZOJ f;evi”}ﬁceﬁnﬁfﬁa”ntg’iﬁé?f@ii%' v
Hutmutter soweit anziehen, dass der Dichteinsatz seine O ooy 0% Tolerence DINISD2768:m
4 | Funktion erflllt. Zu festes Anziehen kann zu Beschéadi- connected by competence : Alldimensionsin mm
gungen fihren, Date Name
Dégchrrgesgekr] des Monta eé&cg& - Draw. |24.11.2021 SL
- Gewindebohrung gemé
-Durchgangsboh?ugng siehe Tabelle. Sppr. 24112021 K EURO’TOP I\/B RA' |_/ M
Zu?entlastur]g QemER EN62444- 2013 om
- Klemmbereich 2-4 mm = Riickhaltevermtgen - Scale: 11
—Eler{nrb}gach 31 mmnur bei M12 = Riickhaltevermtgen Material: Drawing-Nr-; -I of
T Messing, vernickeltl R60x8x5xx_SZM_TD_German 1
IP-Schutzart ist IP68/ 1P €6. A |Kat Schlageinwirkung | 29082023 | SL A
E ﬂatZtel’YDel'a’[ur: _4000 blS +1 OOOC Status Modification Date Name | Z\Inventor\Montageanleitung\Euro-Top-Messing-Rail\Euro-Top-MS-Rail-01-1-BG-0001-R60x8x5xx_.SZM_TD_German.idw \27

Bitte beachten Sie, dass es sich bei der 0.a. Darstellung nur umein Mai3bild handelt.




Mounting Instruction L H
L/
Clanping Range D |[Non Threaded Tightening Impact
(mm) : Enclosure Torque (Nm) Category
G (rr) [ (mm) [ (mm) | (mm) | (mm) (nm) T
> < Cap Body
R60080512 [ MT2XT,5] 30 65 14 | 74 160 [ 240] T20] T2({0/H+02) 50 30 2
R60430512 [ M12x1,5] 30 65 14 [ 14 11201 240] 120] 12({0/+02) 50 30 2
R60080516 | MI6xT5[ 40 80 17 | 18 [ 70 [ 255] 160] T6(0A02) 65 40 2
R60480516 [ MTexT,5] 40 80 17 1 18 117201 2551 160 T6{0/+02) 65 40 2
R60084516 [ MTex1,5] 50 100 [ 20 [ 20 | 70 [ 305] 160] T6(0/+02) 80 40 2
R60484516 [ M16x1,5] 50 100 | 20 [ 20 [120(305] 160] 16(0/+02) 80 40 2
R60080520 [ M2OXT5] 60 120 | 22 [ 22 [ 80 [ 280 200] 20(0/+02) 80 55 2
R60480520 | M2Ox15] 60 120 | 22 1 22 17201 280] 200] 20(0/+02) 30 55 2
R60080522 | M2OXT 5] 100 140 | 24 | 24 1 80 [ 300[ 200] 20(0/+02) 110 60 2
S R60480522 [ M20xT 5] 100 140 [ 24 1 24 1720 300] 200] 20(0/+02) 11,0 60 2
P fﬁfg{g&'g@ggﬁ should orly bedore by a ualified R60080526 | MP5x15] 130 | 180 | 30 [ 30 | 80 | 350 250] 25(0/702) | 170 | 60 Z
electrician who are trained in the installation R60480526 [ M25xT5] 130 180 | 30 [ 30 [120( 350] 250] 25(0/+02) 170 60 4
of cable g|ands_) R60080533 | M32xT ,5 -|8,0 25,0 40 40 9,0 46,0 32,0 32 (0/+0,2) 28,0 6,0 4
R60430533 [ M32x1,5] 180 250 [ 40 | 40 [150]460] 320] 32(0/+02) 280 60 4
1| e e e conectionthvead on the RG00B0GAT [ VAOXT 5| 220|320 | 50 | 50 [ 00 | 545] 400 40(0702) | 41,0 | 120 2
. o . —— . R60480541 [ MAOXT5] 220 320 | 50 | 50 [ 150 545]1400] 40(0A+02) | 410 120 4
Tighten the body until the O-Ring fulfills its function. The _ _
2 %J/Idl ng value is the TT mentioned in the table. gﬁgﬁ?bﬁﬁﬁt&? Tecqrgk und Vertriebs-GrbH Unless otherwise specified on the drawing: Abusively use, in particular reproduction
er tightening mey cause damege: OVAWorst G a0 < DNA0A20 red Yo con be pUroPec by o
3 | Pass the cable through the cable gland. & +49 5407 8766:0 NPT Thread = ANSI B1.20.1 law, Technical changes are reserved
: — : © +49 5407 876699 Tolerence: DIN IS0 2768-m
4 Tighten the cap until the seal fulfills its function. connected by competence | 2 info@rsteu All dimensions inmm
Over tightening nmay cause danmage. Date Nare
D%lhmetgégfhﬁe moun(tjing kt\OIE:N 60103 Draw. |24.11.2021 SL
- Threa ole according to .
- Through hole see table.g Szfr; 24.11.207] KH EU RO’TOP I\/B RA' |_ / M
T&pe of cable anchorage according to EN62444:2013 - -
- Clarmping range 2-4rmm = cable retention . Scale: B
- C|a|\rrp| ng range 3-4mmonly at M12 = cable retention Material: Drawing-Nr.: ' 'I of
_Soleroe = Caitgory A Nickel Plated Brass|  Ro0x8x5xx_SZM_TD_English 1
Operati ng TerTDertUre: -40°Cto+100°C Status Modification Date Name | Z\Inventor\Montageanleitung\Euro-Top-Messing-Rail\Euro-Top-MS-Rail-0T-1-BG-000T-R60x8x5xx_SZM_TD_English.idw \28

Please note that the above representation is just a dimension illustration.




	R60x8x5xx_SZM_TD_German
	R60x8x5xx_SZM_TD_English

